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Winter Addition or Subtraction

Solve the following word problems.

Sarah built a snowman using 4 small snowballs and
3 medium-sized ones. How many snowballs did she
use in total?

In a winter festival, 6 people were skating, but 4
stopped to get hot cocoa. How many people are
still skating?

Lisa bought 7 candy canes and gave 3 to her
friend. How many candy canes does Lisa have left?

There were 6 children playing in the snow, then 3
more joined them. How many children are playing
now?

A snowplow cleared 5 streets in the morning and 2
more in the afternoon. How many streets did it
clear in total?

Charlie has 7 Christmas ornaments. He breaks 1 by
accident. How many Christmas ornaments does
Charlie have now?

Jack had 7 pairs of mittens but lost 2. How many
pairs of mittens does Jack have now?

At a winter market, there were 5 sleds, and then 2
more arrived. How many sleds are there in total?

9 There are 5 elves in Santa's workshop. 3 more
arrive to help. How many elves are in the workshop
z: now?
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